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\¥Op^r 
PUNJABI 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 100 
Time allowed : 3 hours Maximum Marks : 100 

²}¾R : qdIpBr ftZ, gt¥Yc AWy It§dªr-It§dªr Hc²¾ Yp OW²¾ Hc} & 

 qHc\p HcHy q²¾crIV Hc de} qH qBg \of²¾ \§Wc Yy N\y h}By 7 \¥²y¾ h²¾ & 
 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ EWy kcvc qd§IV & 
 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 15 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hs 
qdIVJy & 

  Please check that this question paper contains 7 printed pages. 

  Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 15 questions. 

  Please write down the Serial Number of the question before 
attempting it. 

  15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 
the answer-book during this period. 
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1. hyS¾ qdIy \±cy ²¥¾v \mª Hy Eg hyS¾ qY§Wy \of²¾p£ Yy E¨Wc qdI} : 10 

 Ags ¥̀q²¾Ap£ h± qH qk¥YJr Yp EYyf AqZApW`H \op\Wr h± & A²¥¾Y 
qO§W Yp d§NV h± & qOhmrAp£ qHWp^p£ gp²¥¾v A²¥¾Y qY¥YrAp£ h²¾, Eh E²¾ªp£ 
qHWp^p£ ²¾pd~ e§IcrAp£ h²¾, O} gpTrAp£ qB¥YcrAp£ ²¥¾v qWo\Wr qY¥YrAp£ h²¾ & 
A²¥¾Y \o}mWp Yr q²¾fp²¾r h± & OY} Ags H}Br qHWp^ \mªqYAp£ A²¥¾Y Yr \oWrWr 
HcYy hp£ Eg qeM qdIy qeMpcp£ ²¾pd gp£P `qhgvg HcYy hp£ – Egy Wcªp£ qOez 
Ags g¥JrW gtVqYAp£ Eg qe§M Tt§^ Op£Yy hp£ & A²¥¾Y gcrcH gt§I ²¾pd~ eZycy 
gXpBr ht¥Yp h± Wy \rm qe§M er `pqVAp Op gHYp h± & qOhmrAp£ qHWp^p£ 
A²¥¾Y \±Yp HcYrAp£ h²¾, Eh gpTr hE ±̀ ²¥¾v `pc gtRYrAp£ h²¾ & E²¾ªp£ qe§M 
q²¾cr _petHWp Op£ WH²¾rHr MdpHr ²¾hs ht¥Yr gJ~ qeMpcp£ ²¥¾v OJpEV epdy 
`²}¾_pe ht¥Yy h²¾, qO²¾ªp£ ^pcy JqhcpBr ²¾pd g}qMAp ht¥Yp h± & 

(C) Ags qk¥YJr Yp Hr EYyf `¥q²¾Ap h± ?  

(A) A²¥¾Y Hr ht¥Yp h± ? 

(B) Ags A²¥¾Y Yr \oWrWr qHez HcYy hp£ ? 

(g) ‘AqZApW`’ AWy ‘hE`±’ Yy Hr AcX h²¾ ?  

2. hyS¾ qdIy qeqfAp£ qeM~ qHgy qB§H  E¨Wy (200 – 300 f^Yp£ Yp) dyI qdI} : 10 

(C) e§Z chy \oYvf²¾ Yr g`§qgAp 

(A) Zc` Ap\gr \oy` Yp g¥Yyf qY¥Yp h± 

(B) ²¾pcr fHWr 

(g) ^Ydy Yr _pe²¾p 

3. Wtgs Ap\Vp `Hp²¾ eyMVp h± – qBg epgWy Ai^pc dBr qB§H qBfqWhpc 
^VpG & 7 

Op£ 

 WthpTy gHvd Yy qeqYApcXr WpO `qhd eyIV dBr Op chy h²¾ & Eg OpV 
epdy Jct\ qe§M ²¾p` qdIpEV dBr qBH ²}¾qRg qWApc Hc} & 
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4. \¥Op^r g`pO qeM A¡cW Yr gqXWr YgqYAp£ Ai^pc Yy g¥\pYH ²¥¾v qM§S¾r  

qdI} &  8 

Op£ 

 Ai^pc Yy g¥\pYH ²¥¾v qM§S¾r qdI} qH geN§Wp qHE¤ Ocvcr h± & 

5. hyS¾ qdIy `thpeqcAp£ qe§M~ qW¥²¾  Yy AcX g§\fR Hc} AWy E²¾ªp£ ²¥¾v epHp£ qe§M 
ecW} :  3 

(C) dhv \¥Kc²¾p 

(A) dyI gm²y¾ 

(B) TsJ `pc²¾r 

(g) R¥J AmpEVr 

(h) ²§¾H Mpmª²¾p 

6. (i) hyS¾ qdqIAp£ qe§M~ ft§Z f^Y-O}m MtV} :  2 

(1) (C) `qh²¾W 

 (A) q`h²¾W 

 (B) `yh²¾W 

(2) (C) AqZA²¾ 

 (A) AqZA±²¾ 

 (B) AZyA²¾¾ 

(ii) hyS¾ qdIy f^Yp£ ²¥¾v ft§Z HcHy qdI} : 2 

(C) M}HrYpcr 

(A) g`OVp 
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(iii) f^Y-O}mp£ Yy ²y¾`p£ ²¥¾v qZAp²¾ qe§M cIqYAp£ Yg} qH hyS¾dy dHrcy f^Yp£ 
qe§M~ qHhmp f^Y ecqWAp Opey ? 2 

(C) Eh h§dp Hc²¾ epqdAp£ Yp ^pqHl/epqHl ²¾hs gr & 

(A) Y}gWr qe§M TsJ/UsJ ²¾hs `pcrYr & 

7. hyS¾ qdIy \±cy ²¥¾v ghr q^gcp`-qM¥²¾ª dJpG : 3 

Jc`r ^htW gr \c g±c Hc²¾p er Ocvcr gr g±c qghW dBr M¥Jr Ot ht¥Yr h± 

ht¥Yr h± ²¾p 

8. hyS¾ qdIy epHp£ ²¥¾v ft§Z HcHy qdI} : 3 

(C) qkApYp k}c qY¥Yr h± qeAHWr Yr g}M Wy qBh Wpdr` 

(A) d}H-JrW `dHrAW ²¾hs ht¥Yy qHgy qBH qYd Yr 

(B) `²¾ `pcHy ^±S¾V Yp gt¥²¾r Xpez H}Br dp_ ²¾hs 

9. hyS¾ qdIrAp£ Hpqe-RtHmrAp£ qe§M~ qHgy qB§H  hyS¾ qY§Wy \of²¾p£ Yy E¨Wc qdI} : 8  8 

^pd, ^t§Uy, J§_cv, ỳdy ’M ApBy ²z¾, 

Rt¥^ Rt¥̂  crPp£ ²y¾ gpcy OJpBy ²y¾ & 

_p£W _p£W qYd, _p£W} _p£W `pd ²z¾, 

R}d chy Ap\} Ap\Vp qiApd ²z¾ & 

(C) qBXy qHg `ydy Yr Jd HrWr Op chr h± ? 

(A) ‘Rt¥^ Rt¥^ crPp£’ Yy Hr AcX h²¾ ? 

(B) qB²¾ªp£ gWcp£ qe§M \yf qYof qHg Wcªp£ Yp h± ? 

(g) qBh gWcp£ qHg Her Yr qHg HqeWp qeM~ h²¾ ? 

                                  Op£ 
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qBH c¡f²¾Yp²¾ Yy Rt§Ry h}By frfy ’M~ A§Ip£ Yr XHp²¾ 

qHgy NdrAp£ Yy ^p\ ²y¾ er Hr Hc²¾r Bz cpIr 

dJy dJy Op£Yy er H¥²¾ qHWy dp²¾ 

(C) qB²¾ªp£ gWcp£ qe§M \yf qeA¥J ²¥¾v g\f§R Hc} & 

(A) ‘N§drAp£ Yy ^p\’ Yp Hr AcX h± ? 

(B) qBXy qHg cpIr Yr Jd HrWr Op chr h± ? 

(g) qBh gWcp£ qHg Her Yr qHg HqeWp qe§M~ h²¾ ? 

10. hyS¾ qdIrAp£ Hpqe-RtHmrAp£ qeM~ qHgy qB§H  Yr \og¥J gqhW qeApqIAp Hc} : 8 

kqhcr Yt§Z Iv²¾r Jp£ 

qH§Xy d_rBy H^c dBr Xp£ 

Hyhp `tdH Hyhp Jcp£ 

`c qJAp htV g§Mp q²¾Ap£ 

    Op£ 

q²§¾W \apc qIM qdAp£eYp 

Hcy Acv\} cv\ 

Acfr \orW` h± HtBr 

q²¾W q³c Hcy Acv\ & 

11. hyS¾ qdIy epcWpdp\ A¥fp£ ²¥¾v \m}ª AWy qHgy qB§H  Yy hyS¾ qY§Wy \of²¾p£ Yy E¨Wc 
qdI} :  5 

Eh qOez-qOez Hqh¥Yp qJAp, K}Jp Gez-Gez HcYp qJAp & OY~ Eh 

A§Ip£ `rR Hy ^±S¾ qJAp Wp£ gpZ ^}qdAp, ‘‘Ap£Iy ^¥Y c§I²¾p ...’’ 

(C) K}Jp H¡V h± ? 

(A) gpZ AWy K}Jp Yp Hr g¥^¥Z h± ? 

(B) K}Jp gpZ Yr J§d qHE ¥̀²¾ qchp h± ? 
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(g) gpZ Hr Hc qchp gr ? 

(h) gpZ ²y¾ K}Jy ²¥¾v A§Ip£ ¥̂Y Hc²¾ dBr qHE¤ qHhp ? 

                       Op £ 

‘‘Wtgs er A§Ip£ I}d Hy Hd\²¾p Hc gHYy h} & Hd\²¾p Wp£ `²¾ HcYp  

h± & A§Ip£ `| qBg dBr ^¥Y HcepBrAp£ g²¾ Wp£ O} ²y¾my-²y¾my YrAp£ MrOp£ 

WthpTr qBHpJcWp Wy Hd\²¾p qeM qeK²¾ ²¾p \pEV &’’ 

(C) qBh f^Y H¡V Hqh qchp h± ? 

(A) Eg²y¾ A§Ip£ qHE¤ ^¥Y HcepBrAp£ g²¾ ? 

(B) ‘qBHpJcWp’ Yy AcX g\f§R Hc} & 

(g) qHg²¥¾v A§Ip£ ^¥Y Hc²¾ dBr qHhp ? 

(h) epcWpdp\ ²¾pd g¥^¥qZW \tgWH Yp ²¾p£ qdI} & 

12. ‘JtApqMAp t̀¥Tp’ ²¾ped Yr `vd g`qgAp Hr h± ? 7 

                            Op£ 

 ‘JtApqMAp t̀¥Tp’ ²¾ped qe§M K}Jy ²¥¾v eqh`p£-_c`p£ AWy PvSy¾ ghpqcAp£ W~ qHey 

^phc HqUAp qJAp h± ? 

13. hyS¾ qdIy HXp-A¥fp£ qeM~ qHgy qB§H  Yy hyS¾ qdIy \of²¾p£ Yy E¨Wc qdI} : 2+2+1=5  8 

  d}H `v¥h-h²y¾cy d¥`rAp£ g±cp£ HcYy g²¾ & qY²¾ ²¥¾v H¥`-Z¥qYAp£ qeM 
d¥ ỳ-d¥ ỳ \¥Z `pcYy g²¾ & Wy qBh ApY`r gr qH Yg Jk Yr Yvcr W~ Hpc 
qe§M qgJcR IcrYV Op£Yp gr & 

(C) Hpc Wy qgJcR qdApEV epdp ^¥Yp H¡V h± ? 

(A) Hpc epdy \pWc Yp YvOy \pWcp£ ²¾pd~ Hr A¥Wc h± ? 

(B) ‘`v¥h-h²y¾cy’ Yy Hr AcX h²¾ ? 

                   Op £ 
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  ‘‘Apcp` ²¾pd `hr²¾p Y} `hr²y¾ ch} & Kc Hqh Wp£ ApBy hr h}, ³ycer 

qM§S¾r \p qY¥Yy hp£ &’’ 

(C) qBh f^Y qHg \pWc ed~ qHg \pWc ²¥¾v Hhy JBy h²¾ ? 

(A) qB²¾ªp£ f^Yp£ qeMdr _pe²¾p ²¥¾v g\f§R Hc} & 

(B) HhpVr AWy HhpVrHpc Yp ²¾p£ Y§g} &   

14. ‘eqh¥Jr’ HhpVr qe§Mdy g¥Yyf ²¥¾v g\f§R Hc} & 7 

                  Op£ 

‘q`§g g¡³R’ HhpVr Yr ²¾pqBHp Yp qHcYpc qHh} qOhp h± ? 

15. Jtc`qW Hpqe Yr qeMpcZpcp ^pcy qeMpc 150 W~ 200 f^Yp£ qe§M qYE &  10 

                Op £ 

gvlr HqeWp Yr EW\Wr ^pcy 150 W~ 200 f^Yp£ qe§M Ap\Vy qeMpc qdI} & 

 


